Int. Trig Identities Worksheet Packet Name

Pythagorean, Sum & Diff.

Due Tuesday , Oct. 25 ... Test Wednesday Oct. 26

Prove the following identities.
1. tan(@)cot(6)=1

3. csc?(¢)—csc?(¢)cos?(¢) =1

| tan (&)cos(&)csc(0) _
(sec(@)—tan(0))(sec(6)+tan(0))

7. tan X + cot X = Sec X csc X

11. (1—cos x)(L+secx) =sin xtan x

7sin@+5cos@
sin@cosd

13. 7sec@+5cscld =

2. cos(6) _
1-sin?(9) =sec(0)

cos(x)sin(x)

4, Tosin?(x) = tan(x)

6 (sec(6)+1)(sec(#)-1)

=sec? (0

sin(0) (9)

8. sin@cos@tand+ cos’ =1
Sin X cos X
1-sin“ X

12. sec? x—tan xcot x = tan? x

Textbook Problems: pg. 471 —472
#41, 43, 45, 46, 57, 67, 68, 70, 71




7.2 Practice Worksheet

Verify each identity.
1. sin® Acot® 4= (1—sin A)(1+sin 4)

2. cos’ A+tan® Acos’ A=1

sin Bcot” B
£ taniﬂcosﬁzl
sin@
5 ! 1 =10

+ —
sec’f csc’ O
6. sin@(1+cot’ @) =cscd

secd tanf

A = =
cos@ coté
1 sin’ @
8. —+sec’ @ +— -qQt :
csc” @ sec” @ cos @
CcoSXx CcoSXx
+ =2secx

l1+sinx 1-sinx

1+tan® x

o
CsC X
1-sin’x

11. 1_2—=cot2x
—COS X

12. sinfcosftan@+cos’ @ =1

13. (I1-cosx)(1+secx)=sinxtanx

14. sin® @ cosé —sin’ @cosé =sin’ G cos’

15. sin’ xcos*x+cos* x=1-sin’x

Name:




Sum and Difference

Find the exact value if 0<X<% and 0< y<%
- 7 8
1. sec(x-y) if tanx = and cscy =¢
2. cos(x-y) if cosx=,2 and cosy =24
' 13 S
3. tan(x—y) if sinx=-3. and cosy:§
17 5
4. cos(x-y) if cosx=2 and cos yzﬂ
5 5

e . 5 ) 4
5. cos (x+y) if sinx=— and siny=—
Octy) 13 y 5

. . 8 3
6. sin(x—y) if cosx=— and cosy=—
(X=y) T Y=g

7. tan(x—y) if cscx=§ and coty=g

Verify that each equation is an identity




11. cos(g + X) = —sin x

12. cos(180° + X) = —cos X

Textbook Problems: Pg. 481 — 482
#21, 23, 25, 27, 29, 31, 34,
39, 41, 45, 47, 48, 51, 52, 54
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